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Class V — Internal-Assessment — 5

Full Mark: 40
Answer the following questions. [1X10=10]
1. LCM of two coprime numbers are their
2. What is the first two multiples of 19.

3. Product of two numbers is 250. If their HCF is 5, LCM is

I

. The reciprocal ofg and E are and

v

. How many halves are there in 25.

6. — of 3 liter = milliliter.

3
. Divide 6 by — .
5

8.8 hours is of 1 day.

~N

9. Write down the smallest and greatest 2-digit prime numbers.
10. Fill in the blank with the smallest digit to make the number divisible by 6.
59 16
Answer the following questions. [4X5=20]
11. Find the LCM by prime factorization method: 36, 48 and 72.
12. Find the HCF of 132, 154 and 198.
3

13, Simplify: = (14 2-)
.olm L — +2— ).
MR- 4 Y107 %5

1 3
14. Divide 26 — by 8 — .
4 4

15. Find the least number that is divided by 12, 24, and 32 leaving remainder 7 in each case.

Answer the following questions. [2X5=10]

3
16. E of people in a village use cars. There are 2750 people in the village. How many people do not use

car?

17. A teacher wants to arrange the students of class Vin 12, 20 or 25 rows. If each row has the same
number of students, how many students will be there in minimum number?
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